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M: What are you doing up there, Sharon?
W: I’'m changing the light bulb.
M: Please be careful. That chair doesn’t look sturdy.
W: This chair is strong enough to hold me. I’'m not that heavy.
M: I’m not saying you are. I’'m just worried about your safety.
Q. What does the conversation imply?
oDiF JE -
(A) The man thinks Sharon has gained weight.
(B) The man is afraid the chair will break.
(C) The man says thereisn’t enough light.
(D) The man isworried about his own safety.
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M: Wow! | can’t believe how big the aguarium in your living room is, Rosa. Your parents must really love
fish.
W: Not really. They do not even look at them.
M: Oh, I know why they haveit. They believe that water brings luck.
W: Some people do, but not my parents.
M: | can not see why they have an aguarium then.
W: It was a gift.
Q. Why do Rosa's parents have an aquarium in their living room?
i I8
(A) They keep fish as pets.
(B) They believe that water means good luck.
(C) They wanted to decorate their living room.
(D) They received it as a present.
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W: Let’s not fly to Hualien thistime. Let's take the train.
M: Why?Areyou afraid to fly?
W: It'struethat | don't enjoy those local flights on little airplanes. But the real reason | want to take the train
isthat the east coast of Taiwan is beautiful.
M: Okay.
W: I’'ll drive to the station and buy two tickets this afternoon.
Q. How are they traveling to Hualien?
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(A) They are going to fly. (B) They will drive.
(C) They aretaking atrain. (D) They will take atour bus.
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M: Did you hear about the school’s new dress code?

W: No, | didn’t. Are they changing something about our uniforms?

M: Actually, starting next year, we don’t have to wear uniforms at all. Isn’t that great news? We can wear
whatever we want.

W: Well, | used to think that, but wearing uniforms saves alot of trouble for me. | don’'t have to think about
what to wear every day.

Q. How does the woman feel about the dress code?

=iF I8 -
(A) The school should keep the current clothing policy.
(B) Shelikes having free choicesin clothing.
(C) Wearing uniforms causes alot of trouble.

(D) The school shouldn’t have a dress code.
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M: | can’'t wait to see the new action film opening on Friday night.
W: It’stoo violent. You got to choose last time, so thistimeit's my turn. We' re watching the musical
everyone's been crazy about.
M: Areyou joking? 1’1l fall adeep in the first five minutes, just like | did for that comedy you insisted we
watch.
W: Come on, give it achance. Even your friend Mike said it was good.
Q. What is true about the conversation?
=>iE I8
(A) The musical will put the woman to sleep.
(B) The man should choose the movie every time.

(C) Their tastes in movies don’t match well.
(D) The man will insist on watching a comedy.
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M: I'm flying to Hong Kong next weekend. Where did you stay when you were there last month?

W: At the Kowloon Palace Hotel, but | wouldn't recommend you stay there.

M: What was the problem? Was the service bad?

W: No, the service was exceptional. The problem was the noise. A new building was going up right next door.
It'sso loud, and the traffic was so bad. Besides, the air was so full of dirt and truck fumes. I’ d stay at the
Sheraton by the harbor if | were you.



Q. Why isthe woman suggesting another hotel to the man?
=>iE I8 -

(A) It'scloser to the city.

(B) The priceis more reasonable.

(C) The serviceis exceptional.

(D) The neighborhood is cleaner and quieter.
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W: | don’'t know where | should take my friends for dinner. Whenever they come to town, | always take them
to the same old places.
M: How about the Indian restaurant that opened last year near the train station? It’s not cheap, but it’s good.
W: That sounds nice. Do you have their number?
M: | don’t, but you usually don’t need reservations.
W: Great, we're going there tonight. Why not come along?
Q. Why does the woman want to take her friends to a new place?
>iE I8
(A) She prefers arestaurant near the train station.
(B) She doesn’t want to spend too much money.
(C) Shewantsto try Indian food.
(D) She wantsto try anew restaurant.
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M: Excuse me, can you tell me how to operate this? Each one seems to work in adifferent way.

W: Sure. Firgt, load your document in the tray. For this model, you need to put it in face up likethis. Input the
number, and if you make a mistake, press”C” to cancel.

M: Ok, let metry. To send, do you press this button here?

W: No, it'sthe big green one. Then wait for the confirmation to print out. You have to make sure it goes
through.

Q. What is the woman showing the man?

>iE I8 -
(A) Make copies. (B) Mail adocument.
(C) Send afax. (D) Use atelephone.
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M: Who won the basketball game last night? | fell asleep and missed it.
W: Japan was the winner. They beat Korea by two points.
M: Wow, what a close score! It sounds like it was a great game.
W: It really was athrilling contest. Both sides played so hard, all the way up to the final second.

Q. What was the outcome of the game?
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(A) The game was atie.
(B) Japan won the game.
(C) The contest was cancelled.

(D) The Korean team was the winner.
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W: Hello. Thisis Amy speaking.
M: Amy, thisis John. How are you feeling now?
W: A little bit better, but | haven't dept well for many days. | have too much stress at work. | can’t sleep a
wink. | need some more rest.
M: Why don’t you take sleeping pills? | have some here.
W: No, thanks. I'm afraid I’ [l become addicted to them.
Q. According to Amy, why can’t she sleep?
=:F JIB C
(A) She hasjob pressure.
(B) Her family puts too much stress on her.
(C) Sheisaddicted to work.
(D) Her pills are too wesk.
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Sparkles Jawelry Store in downtown Boston was robbed last night just before closing. Over $15,000in
cash was taken, and oddly enough, valuables such as jewelry and watches were left behind. The robbery
occurred at 9:20 P.M., according to police. At that time, Mr. Jefferson, the store owner, was the only person
present. All customers and staff had already left. Anyone with information about the crime should call police
at 04-263-3748.

11. What was robbed?
=:F I8

(A) Clothes. (B) Jewelry. (C) Money. (D) Watches.

[#%C]
12. Who was present when the robbery occurred?
oiE I -
(A) The store owner only. (B) The store owner and some customers.
(C) The store owner and the staff. (D) Nobody was there.
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Thanks for coming, everyone! This is going to be a great morning of getting in shape and enjoying the
sunshine. Before we begin, please check your bikes. Make sure the seat is high enough and the tires have air.
OK, now let's do a little stretching. Breathe slowly and reach up high. Now touch your toes. Good! Keep
going. We're really going to work those leg muscles today, and we don’t want any injuries. We'll now begin
with agentle, dow ride around the park. Are you ready? Put on your helmets, and let's go!
13. What can we say about the speaker?

=:F JIB
(A) He doesn’'t recommend stretching. (B) Heis cooling off after jogging.
(C) Heisabeginner at riding abike. (D) Heisgoing to lead a cycling trip.
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14. Which of the following is true?
o>iF JE -
(A) They are going to jog around the park. (B) They are going to fix their bikes.
(C) They are going to cycle around the park. (D) They are going to perform a dance in the park.
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Two lion cubs were born at the San Diego Zoo early today. The announcement was made this afternoon by
John Stuart, the zoo director. According to John Stuart, the zoo’s lion specialist has created a specia habitat
for the new babies. When the babies are old enough for public viewing, the zoo will organize several special
activities to introduce them to the public. Everyoneisinvited. Come and join us!

15. What happened at the zoo today?

=>iE I8

(A) New lions were bought.
(B) Baby lions were born.
(C) A new zoo director was assigned.

(D) Many people came to the zoo to see the baby lions.

16. Who made the announcement?
=>iF IE -

(A) Thelion specialist.

(B) The zoo director.

(C) The city mayor.

(D) The activities director.
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Thisis Davis Harolds with your daily employment tip. Bell Electronics has finally opened at the corner of
4th Street and Center Road. The company has several openings as follows: electricians, carpenters, plumbers,
and bricklayers. If you are interested, mail your resume and references to 614 Todd Street. Wages start at
minimum wage for general laborers. All supervisor and managerial positions have been filled at this time,
but the company will do a second round of hiring in spring.

17. In which of these occupations does Bell Electronics NOT have openings?
>iE I8 -

(A) Truck drivers. (B) Bricklayers. (C) Plumbers. (D) Electricians.

18. What should applicants do?
i I8
(A) Goin person. (B) Send their resumes and references.
(C) Request ajob application form. (D) Write aletter to the company.
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Thanks for coming to my good-bye party. Working at JC Crew has been a wonderful journey. It wasn’t
aways easy, but it was a great opportunity and | learned alot. | would like to thank my old supervisor, Fred,
who believed in me and gave me my biggest promotion. My advice to you al is to focus on your goals.
Sometimes there is alot of pressure and it feels like you' re working on an impossible task. But you wouldn’t
have your position if your superiors didn’'t think you could do it. Keep working hard and you’'ll achieve great

things. Asfor me, I’'m ready to relax and spend time with my grandchildren!

19. What is the speaker going to do?
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(A) Retire from the company.
(B) Demand ajob promotion.
(C) Take charge of the sales department.
(D) Organize her good-bye party.

[#%A]
20. Who is the speaker probably talking to?
>if JE :
(A) Her grandchildren. (B) Her hushand.
(C) Her new supervisor. (D) Her coworkers.
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